2
| |
468 7.9 2030| 2470| 463 397 13| 26| 54| 7.8
468 34 1,246 1.3 4.1
JCT IC
468 101 2209| 2100| 99| 1.322| 1.8| 29| 42| 3.8
468 39.6 2634| 1,760| 1909| ,579| 1.3| 20| 1.7| 22
cC )
(L=195 )
468 40.0 L=20.5km 2,841| 2030| 1,225| 1,067 1.3 18| 24| 14| 16
JCT IC
IC
L=7.1km)
468 284 L=21.3km 2115 z002| 873 1,353 13| 20| 27| 28| 14
JCT
78 412| 544 94| 479| 18| 1.7| 72| 1.9
283 2,004| 4341| 1,892 4295| 1.2| 24| 1.3| 24

km




17 5.7 452 - 102 - | 22| - |104| - | - | -
17 5.0 91| 91| 88 - | 26| 39|27 - | - | -
20 5.0 353| 353 342| 353 41| 57| 43| - | - | -
20
1 0.7 210 250 8 551 1.6| 23639177 - -
(L=23 )
6 39 L=1.6km 220 200, 19) 30| 21| - |101] 60| 29| 37
21
16 05 100 00| 15| 13| 11| - | 9.1|133| 14| 22
16 27 L=1.5km) 17| s00| 52| 163| 15| - | 48| 27| 24| 25 km




L=0.7km
17 12 (L=0.5km) 180 200 32 12| 11 55| 133 14| 26
L=0.5km
L=20.9km
17 232 (L=2.3km) 800, soo| 94 129 2.0 57 37| 13| 28 - »
L=2.3km 254
36
35 36
L=4.6
2 L=14
18 6.0 400 400 28| 33| 1.2 83| 63|79 18 5 4k
4KM
L=1.4km 100%
6km 99
L=2.4km(4/4 L4km
L=4.9km
50 7.7 L=2.8km 257 300 16| 30| 2.3 56| 68| 1.6 32
L=2.8km
L=1.9km(4/4 2 4
L=0.4km
246 45 L=1.1km 550 736 61 320 1.6 00| 41/ 00| 27
L=1.1km




L=4.6km )
246 56 L=1.0km 500[ 500| 199 0.9 22| - |17 -
L=4.6km
1.0 5/ 16| 1.2 83| 26| -| 18
L=1.0km
L= km
L=5.6km B/C=
L=5.6km B/C=
357 105 1273| 1273 272 334 1.9 14| 22| 14| 21
[ [ N
47 L=4.7km 411| 520 181| 1.3 21

H19




